RETFAN XFHX KA o1

1. {}ohERALGHEZE X (SHK308, Afk45®, BHK13 058, C#H14r 308 )

1) z+1+22 {z=2} (2) 22+3y {z=4, y=3}
(3) 5@+3) {r=-2} (4) f”gl (z=9)}
B) 9-2x-1 {z=15} 6) 3(a—b)—4(a—20) {a=2, b=-3}
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2.

{} o Z2RALCGGIHEZE L. (SH30F, A5, B 1 73058, Cfk1330%8)
1) z42—4z {z=3} 2 20—y {z=-5, y=-3}
@) 26-2) {z=-2} (4) % {z2=9)}
(5) 3x—4@x—-1) {z=1} (6)  2(4a—3b)—5(2a—-b) {a=-1, b=—-4}
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RETFAN XFRX KA 01 REEH

{} OhERALCEtHEZE L. (SHk30F, Afk45®, Bik1305%, C#k1330F )

* KA

WEROEFHEEZ L oo AT A L.

1 z+1+2x {z=2} (2 22+3y {x=4, y=3}
=3z +1 =2x4+3x%x3
=3x2+1 =849
=6+1 =17
=7
(3) 5(a+3) {z=-2} (4) xgl (z2=9)
o 9—-1
=5(—2+3) ==
=5x1 _8
6
-5 _4
3
WEFLTO2HRALTS kv,
B) 9-2x-1 {z=15} 6) 3(a—0b)—4(a—20) {a=2, b=-3}

=9—-2x+2

=11 -2z

=11-2x15

=11-30

=—19

=3a —3b—4a+ 8b
= —a+5b
=—-2+5x(-3)
=-2-15

= —17
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2.

(1)

(3)

(5)

{} o Z2RALCGGIHEZE L. (SH30F, A5, B 1 73058, Cfk1330%8)

x+2—4x {x=3} 2 20—y {x=-5, y=-3}
= 3z +2 =2x (=5) — (=3)
= -3x3+42 =-10+3
=942 =7
=7
°5-2) {ax=-2} (9 3TES fa—9)
=2{5—(-2)} :w
=2><7 :2
4

=14 =8
S L THoRALTD L.
3v—4(x—1) {z=1} (6)  2(4a—3b) —5(2a—b) {a=-1, b=—-4}
=3r—4x+4 = 8a — 6b — 10a + 5b
=—x+4 =—-2a—0b
— 144 = —2x (=1) — (—4)

=6
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